HEREER TR 284 e EZR T RIE6 7 E T R ARk
M14 R
INE 837, 603
R ERE K 163
TR (105 %) 19.5 GTHRIE T
RIS A 2R 126 SEHILL T WY SEHILL b
FIHFR 0T #) 15.0
FERRRB AL 376 6THERERT  FLE(L
HAT BREE L w7 z ! 0 ! 2 S A
IR I R R 1055t 19.46 13.04 1.62 3/
2 WG RIS R A e AR R 10755+ 8.24 4. 99 1.81 2/
3 FEEZAE R 107 %f 2.03 1.49 0.93 10 /
TR R 4 PEE VR R A E TR o a3 R 1075 %f 6.57 5. 39 0. 55 — 16 /
HETE 5 Fra ek A E AR S % 3.68 6.89 -0. 80 : 52 /
_____________ 6 Fraskeomm Ll FEIA % 63. 19 71.89 -1.03 55 /
HERE T OTER T R~ Hz20> H L EEES % 9.09 15. 99 -0.79 53 /
8 Wiz~ Wrin A UL EEIA % 18.09 20. 76 -0. 46 52 /
9 %EJ“N%U?SVJ HULLEEG % 10.23 15. 61 -0. 68 52 /
BRLE 10 Bz PR s 1 R E S % 0. 80 3.63 -0.98 : 59 /
11 FBek B 14 i D %ﬁﬁm%‘@a Mgk SENEK 4. 50 8. 68 -0.99 62 /
2l 12 sk A s ez E % 23.31 23.92 -0.13 35 /
13 HififsEz EPE/A)%‘@I % 4. 00 5. 19 -0. 47 44 /
14 B RZ R B e A % 86. 40 87. 59 —0. 24 41 /
bE S b 15 B AR R 80mE A 7 o LAl il J7 B % 77. 67 80. 98 -0. 47 — 51/
ABe i 16 R i R AR gfl H 61. 00 64. 28 -0.21 - 39 /
bEds il 17 B AR A VR SE ke TR eI R v g fi H 281. 00 267. 62 0. 65 4/
18 ARG EFEZH2ELL EIGREE % 3.97 1.09 2.50 L 2/
TR R 19 g B p ) e = s — DR DA % 51.58 46. 40 0.55 22 /
20 Mg BRI = AR — R ETEIS % 20. 00 24. 14 -0. 67 49 /
21 JVER BRIl = AR — b AR E A % 0. 00 4.83 -1.32 60 /
22 Mg BRI = AR — MR B % 2.11 3.19 -0. 42 41/
23 WV BRIl 2 AR — 127 RIS % 16. 84 8.70 1.65 6/
24 JHERBEERIIE] = A — | SRR A % 9. 47 12.75 —0. 42 42 /
i e e B 25 Frlim A ek R R B R R S % 93. 62 62. 40 1.20 11/
26 ST AL h R A S AR A A R R R A % 99.20 86. 73 0. 99 8 /
27 FRGRE 2R b o SRR A AR B & % 100. 00 69. 36 1.33 1/
28 AFERKBER PRI AR EI S % 34. 84 19. 85 1.16 6/
< Dl 29 SERIEINE SR DA TR (e B S % 17. 46 5. 24 2.58 —————— 3/

3. MR RIIANBRBIZLD

1. Z OFREMIT RO KA T ) . A GRS SERE S T M AR A - (R S S
Mtk & 0 PR LTz,
16.  RITAE O B Sk it % HB S TR ERI AR B

B D2 R

EHBRRTH D,

17, AR ORF R EREE CREEE ABE £ 113D BEDBHRTH 5,

19~24.

HITAE OB GRVE B IR PE RS R AR IR BB SR TH B,

o
S

757 LAREDTF 53
FEIREZE 5« 10

» 11

14,

15,

19, 25, 26, 27

JIEVE |6 A
A Y 13 =¥ v



	print

